Chapter 13 - Universal Gravitation

Group 1 Problems:

Problem 1:
1
Vg = —V1
T2
Problem 2:
(a) AE =327 x 107 J = 9.07 kW - hr
(b) Cost = $544
Problem 3:

a=1.45%10"m

= 1.45 x 10" km 100 times larger than Pluto’s distance

= 0.0153 light years
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Problem 8:
GMims GMyms
F = -
(2) x? (d—x)?
(b) & = M(1 - \/Mg/Ml)d
My — My
Problem 9:
ra =460 x 10" m
Problem 10:

(a) ax =12 AU
(b) Fg.x = 400 Ibs

Group 3 Problems:

Problem 4:
W = Gi\/[m Problem 11:
T0
Problem 5: 3 mj , m3
roblem 5: (a) F = Gmy ?erj
g =2.027 x 10~* m/s> () U = _Gmumy  Gmums  Gmamg
b a Vaz + b2
Group 2 Problems: ~ Gmims Gmams
Problem 6: (¢) Wear = +
b Va2 + b2
o) F 1672m (2 4 h)° (d) L = m3/Gamy
a)tig = 2772
p*r 3 Problem 12:
167%m (2 + h) 2mm2D
(b) Fg = D2T2 — T% ﬁ: _GM1m3(JJ—$1)jj_ G’Z\lg’/n;g(ﬂf—.CL‘Q)jj
(z —21)3/2 (x — 22)3/2
Problem 7:
Problem 13:
0 = 70.9 degrees

Ry +H
RM(RM + H)

Uf = \/GM]\,{




